
During the Industrial  in Britain, many workers were a�ected.

New machines replaced the  labor that many people relied on.

This caused widespread  among workers. The Luddites were a

group of English  who protested against this change. They

feared that machines would take away their  and destroy their

livelihood.

The Luddites were mostly textile workers. They worked in 

making cloth and other fabrics. When new machinery was introduced, factory

 found that they needed fewer workers. This led to the Luddites

breaking into factories at . They would destroy the machines

they believed were causing their problems.

The  saw the Luddites as a serious threat. They responded by

increasing the  for destroying machinery. Some Luddites were

even executed for their actions. Despite their e�orts, the  did

not stop the Industrial Revolution. Machines continued to be used more widely in factories.

The  are often seen as a symbol of resistance to technological

change. Today, people who oppose new  are sometimes ca'ed

Luddites. However, the original Luddites were not against a' technology. They were against the

 it was being used to put them out of work without any form of

. The struggle of the Luddites is a reminder of the human cost

of rapid .
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	task: 1. Fill in the gaps with the right words!
2. Scan the QR code to check your answers interactively!
3. Copy the text in your exercise book!
4. Formulate the content of the text yourself!
    Use all gap words!


